In
1
Zn**|Zn ) i
Ag'| Ag
Zn**+2e¢- Zn I Eﬂq
CI(CL, (g)|Pt

CL(g)+2¢ 2CI

o o0y, S E T+ AE = L= e
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p=p°=100kPa a =1

H™| H,(g) | Pt
2H*+ 2~ — H,(g)

ES [H+ \Hz(g)] -0

S5 oy S &£ Tt 2 = At =3

s WS e T



H"| H,(g) | Pt
2H*+ 2e — H,(g)

E® [H+ \Hz(g)] -0

OH , H,0 | Hy(g) | Pt
2H,0 + 2 e — H,(g) + 20H"

[Ee | H,0,0H |H,(g) |= F::—T InK , = - 0.828 V}

o o0y, S E T+ AE = P
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7.8.1
Pt|H,(g,100kPa)|H" :: OH~ H,O|H,(g,100kPa)| Pt

E° | H,0,0H |H,(g) |

%Hz(g,lﬂokPa) =H" +e”
1
H,O0+e =OH + EHz(g,IOOkPa)

H20=H++05Kw
- _go_RT CaM')a(OH

F a(H,0)
E=0 E° RT InK
B K, =1.008 x 104
_ v n] RT
E®=E°|[H,0,0H |H,(g) |-E°[H" |H,(g)|= Ik,

RT
E°| H,0,0H |H,(g) |= —InK,, =-0.828V



H+ OH_

OZ(g)9
/ H,O, H" | O,(g) | Pt A
O,(g)+4H*+4e 2H,0
\ ES{H,0 ,H'| O,(g)}=1.229 V,
(¢ H0,0H |Oyg)|Pt A
0,(g)+2H,0+4e- 40H-
N E°{H,0, OH | O4(2)}= 0401V,

E°{H,0, OB 04@)} = E°{H,0.H'| (@} + = InK,

SN g ek £ T {Y4e A K S R At

Pl b B e Ty



() Oyg)+2H,0+4e—>40H"- AGE

r —m,l

+) 4H" + 40H - 4H,0 AGS

r — m,2
() Oy(g)+4H"+4e - 2H,0(g) AGS,
- AGS =—2FES( )=-4FE°( )
4
alO) gy ln%=4RT InK,

w

AGS, =—RTIn —
’ [a(H™) a(OH")]

AG®. =—zFE®( )=-4FE°( )

r-m3

A GP.=A G° +A G°

r — mJ3 r — m,l r — m,2

~. -4FE®( ) -4FE®©( )+4RTInK,

“E®S(C ) E®(C )+ F::—TanW

E°{OH, H;0| 0@} = E°{H', H,0| O} +~ InK,




_ —Hg+Hg2Cl2
B R 2
RE
Cl [Hg,ClL,(s)|Hg(Pt) MAKCHER |
Hg,Cl,(s) + 2¢- — 2Hg + 2CI- i

HARB RIS

’ : RT
E {CIHHg,Cl,(s)[Hg} = E° {CIHg,Cl,(s)[Hg} — 52 Ina__




- Hg
1 —: | 'ﬁf ——Hg+Hg2Cl2
R (=
A KCIE R
Cl |Hg,Cl,(s)|Hg(Pt) KCI8 4 i
) ) "E!‘iEE.ﬁE‘?l#a
1y 4 _ = 1 9 RT
E {CIHg,Cl,(s)Hg; = E¥ {CIHg,Cl,(s)[Hg} —?lﬂ a..-
%7.8.1 ARKEHFXEBRHEBERBE
KCl 3 B E/V E(298.15K)/V
0.1 mol+dm ™’ 0.3335-7x107°(+/C -25) 0.333 5
1 mol-dm ™’ 0.2799 -2.4 x 10 " (v/°C -25) 0.279 9
1 F1 0.241 0-7.6 x 10 *(+/°C -25) 0.241 0 I

L e ——— e - D ae——



7.8.2 25 E=0.6095V
Pt| H,(g,100kPa) | a . ||0.1mol- dm”KCl | Hg,Cl,(s)| Hg | Pt

pH

Hg,Cl,(s) + 2e- —> 2Hg + 2Cl-
H,—-2e¢ > 2H"
E =E[ Cl |Hg,Cl, (s)|Hg]=03335V

p(Hz)/ p°®
a(H")

E =E[H |H,(g)]= EG[HWH(g)]—
EC{H" |H2(g,100kPa)}—O

. E =I:\;:—Tlna(H+) —F\;:—Tlnl()po——()05916pH

E=E -E -.0.6095 =0.3335 - (-0.05916pH)
pH =4.67




: H,0 ,H" | Sb,0, (s)| Sb
Sb,0, (s) + 6H*+ 6e~ —> 2Sb + 3H,0

: H,0, OH—| Sb,0, (s)| Sb
Sb,0, (s) + 3H,0 + 6e ~ —> 2Sb + 60H—

o o0y, S E T+ AE = L= e
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Fe3t,Fe?"|Pt Fe’t +e = Fe?*

Fe' H‘ﬁ]lFL‘f‘ (a,) Fe™* (a))+e- — Fe** (a,)
{ u-t rﬂ|}{ u’ HM [Pl 4 Cu’ (a)+e- #1Cu (ay)
i lcTL} Sn* (a,)|Pt .‘:avn*+ (a)) + 2e~ —=JSn3* (a,)

!

_;Lj |ri




